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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- I would like to compliment Jaden for the course of action he recommended because 1

think it will <=--ceeeeeee our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

P — is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

3- Do you know of an alternate route we could take to -----eaeeeee having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —-------- -
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an - pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to --—-----—— its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7-  It's an —--eeeee- --- to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

8-  Mr. Baker has decided to move to a big city because of a —--——- -—- of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The ecarliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) ~=-emmeeee- by Homo sapiens. which is estimated to be 73,000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)1s 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

Part C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.

PASSAGE I:

An agricultural robot is a robot deployed for agricultural purposes- The main area of
application of robots in agriculture today is at the harvesting stage- The mechanical
design consists of an end effector. manipulator, and gripper- Several factors must be
considered in the design of the manipulator, including the task. economic efficiency.
and required motions- The end effector influences the market value of the fruit and the
gripper's design is based on the crop that is being harvested- An end effector in an
agricultural robot is the device found at the end of the robotic arm, used for various
agricultural operations- Several different kinds of end effectors have been developed-
In an agricultural operation involving grapes in Japan, end effectors are used for
harvesting, berry-thinning, spraying, and bagging- Berry thinning is another operation
performed on the grapes, and is used to increase the grapes' size, and facilitate the
bunching process- For berry thinning, an end effector consists of an upper. middle, and
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lower part- The gripper is a grasping device that is used for harvesting the target crop-
Design of the gripper is based on simplicity, low cost. and effectiveness- Thus. the
design usually consists of two mechanical fingers that are able to move in synchrony
when performing their task- Specifics of the design depend on the task that is being
performed- The manipulator allows the gripper and end effector to navigate through
their environment- The manipulator consists of four-bar parallel links that maintain the
gripper's position and height- The manipulator also can utilize one, two, or three
pneumatic actuators- Pneumatic actuators are motors which produce linear and rotary
motion by converting compressed air into energy- The pneumatic actuator is the most
effective actuator for agricultural robots because of its high power-weight ratio-

We may understand from the passage that the gripper -——-----=--= .

1) is a less complicated device than the manipulator

2) was first invented in Japan for grape harvesting

3) usually moves in synchrony with an end effecter

4) is the origin of two robotic arms on each side

The passage points to the fact that the efficiency of the end effecter-—----—-—-,
1) makes it ideal for “clean’ regular spraying
2) depends on the formation of its upper part
3) can make an effect on the price of the fruit
4) lets the crop be exported to far-away places
The passage mentions that the manipulator ----
1) may have up to three pneumatic actuators
2) can have electric or pneumatic actuators

3) is based more on rotary than linear motion
4) links four parallel bars on top of each other
It is stated in the passage that-—--—--—-—,

1) robots are used today more in the planting stage

2) rotary motion of the gripper converts air into energy
3) the gripper can navigate the end effector about

4) the grapes’ size can be added through berry thinning

The word ‘bunch’ in the passage (underlined) is closest to-----------,
1) *pace’ 2) *pair’

3) ‘pack’ 4) *pick’

PASSAGE 2:

A hedge trimmer, shrub trimmer, or bush trimmer, is a gardening tool or machine used
for trimming hedges or solitary shrubs- Different designs as well as manual and
powered versions of hedge trimmers exist- The power source of stand-alone hedge
trimmers can be human power, gasoline, or electricity- Manual hedge trimmers are
designed as large scissors or large pruning shears- They do not need anything to
operate and are cheapest/most environmentally friendly- Motorized hedge trimmers
allow work to be done faster and with less effort than manual ones- Their cutting
mechanism is similar to that of finger-bar mowers- Powered trimmers are generally
designed with safety devices such that they work only when both of the operator's
hands are on the handles- Gasoline-powered trimmers tend to be more powerful but
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can be heavier and more difficult to start- Electrical trimmers tend to be lighter and
less powerful (than gasoline variants) as well as less polluting/noisy. yet still require
an electrical cord with most types (if not equipped with rechargeable batteries)
Tractor-mounted and tractor-driven hedge trimmers also exist, but are not that
common- These machines consist of a moveable arm (hydraulic boom) with a large
hedge trimmer attachment at its end- Their cutting mechanism is similar to that of
finger-bar mowers- Such large hedge trimmers are often confused with tractor-
mounted reach flail mowers (booms with flail mower attachments), which appear
similar due to the use of booms- And in colloguial language both, tractor-mounted
hedge trimmers and reach flail mowers, are imprecisely called hedge cutters. or brush
cutters- In contrast to tractor-mounted hedge trimmers, reach flail mowers have a
different cutting mechanism. and are not only used for trimming hedges, but also in
several other fields of application (mowing taller grass, road verge cutting, ditch
maintenance. etc.).

We understand from the passage that--—-----———--—- .

1) tractor-driven hedge trimmers are common

2) some electrical trimmers run on batteries

3) “hedge cutters’” are advanced “brush cutters’

4) gasoline-powered trimmers are easy o start

It is stated in the passage that motorized hedge trimmers----------—-- s
1) are the cheapest but least environmentally friendly trimmers

2) have a moveable arm with a hydraulic boom on either side

3) can be run as fast as manual ones manual hedge trimmers

4) and finger-bar mowers have the same cutting mechanism

The passage mentions that reach flail mowers------—-—- .

1) can, like manual hedge trimmers, be operated with one hand
2) have more applications than tractor-mounted hedge trimmers
3) have at least two booms with several flail mower attachments
4) are specifically used in trimming inaccessible solitary shrubs
We may understand from the passage that-----
1) powered trimmers are dangerous to operate

2) pruning shears have to be mechanical

3) electrical trimmers produce no pollution

4) manual trimmers are used in “verge cutting’

The word *colloquial’ in the passage (underlined) is closest to-

1) *simple’ 2) *scientific’
3) “agricultural’ 4) ‘conversational’
PASSAGE 3:

A cultivator is any of several types of farm implement used for secondary tillage- One
sense of the name refers to frames with the teeth that pierce the soil as they are
dragged through it linearly- Another sense refers to machines that use rotary motion of
disks or teeth to accomplish a similar result- The rotary tiller is a principal example-
Cultivators stir and pulverize the soil. either before planting (to aerate the soil and
prepare a smooth, loose seedbed) or after the crop has begun growing (to kill weeds—
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controlled disturbance of the topsoil close to the crop plants kills the surrounding
weeds by uprooting them. burying their leaves to disrupt their photosynthesis. or a
combination of both)- Unlike a harrow, which disturbs the entire surface of the soil.
cultivators are designed to disturb the soil in careful patterns- Cultivators of the
toothed type are often similar in form to chisel plows, but their goals are different-
Cultivator teeth work near the surface, whereas chisel plow shanks work deep beneath
the surface, breaking up hardpan- Consequently, cultivating also takes much less
power per shank than does chisel plowing- Small toothed cultivators pushed or pulled
by a single person are used as garden tools for small-scale gardening, such as for the
houschold's own use or for small market gardens- Similarly sized rotary tillers
combine the functions of harrow and cultivator into one multipurpose machine-
Cultivators are usually either self-propelled or drawn as an attachment behind either
a two-wheel tractor or four-wheel tractor- For two-wheel tractors they are usually
rigidly fixed and powered via couplings to the tractors' transmission- For four-wheel
tractors they are usually attached by means of a three-point hitch and driven by
a power take-off (PTO)-

The passage points to the fact that harrows—--—--—-—-,
1) are, in fact, rotary tillers with a cultivator

2) do not aerate the soil if the tillage is done

3) do not disturb the soil in careful patterns

4) are often similar in form to chisel plows

We understand from the passage that-

1) chisel plows are not able to break up the hardpan
2) three-point hitches are driven by a power take-off
3) four-wheel-tractor cultivators are not rigidly fixed
4) loose seedbeds can help some crops to grow faster
According to the passage that cultivators-—--—-—-—,

1) take less energy than chisel plows to operate

2) were originally used as home gardening tools

3) are pushed or pulled by at least two persons

4) are not as practical as chisel plows for gardens

The passage mentions that cultivators-—--——-—--,

1) have sharp shanks working deep beneath the surface
2) bury weeds’ leaves and disrupt their photosynthesis
3) are self-propelled if attached to a two-wheel tractor
4) control the topsoil by uprooting all unwanted plants
The word ‘pulverize’ in the passage (underlined) is

1) “collect” 2) “hift

3) ‘crush’ 4) “lay’
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